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Q7. Find 0.3% of 2000. Q7. 6
. . itional A .
Q8. Sketch the graph of a decreasing exponential function. gg 5 ei f;;i?ﬁf’ﬁ,‘i + riswers

Q9. Write the general equation of a quadratic function. Q10. See Additional Answers.
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Q10. Sketch the graph of y = G-

* Work the following problems. g g, P %%gé}; (D
7 6r fiiona). Root Th07Er

In Problems 1 through 22, use the Factor Theorem either to factor the
polynomial completely or to prove that it has no linear factors with integer

coefficients.

v LEa+2x—4x+5
1. x®+ 3x2 — 18x — 40 2. x%+ 9x2 + 24x + 20 2 8‘ * gzﬁf"j;()x .
3. x3—10x2— 17x + 66 4, x*+3x*-6x— 8§ 4 (x + D(x — 2)(x + 4)
5. G+ 22 —-3x+ 1)
5. x*—x?-5x+2 6. x*—2x2— 14x + 3 6. (x +3)x*—5x+ 1)
. 7. Prime.
7. x*+3x2—-Tx+2 8. x*+2x*-9x+3 8. Prime.
: 9. (x — Dix +2x —3)x+ 4
9. x*+42x® — 13x? — 14x + 24 10. (x + l)gx +2)(x — 3)(x + 4)
. —_ 2
10, x* + 4x — Tx? — 34x — 24 P A A
1 x* = 2%% - 3x% + 4x + 4 13. (x + 17
, 4. (x - 1)
12, x*—7x*+18x2—-20x+8 15. (2x — Dlx + 2)(x + 1)
16. (B3x + Dx — 2)(x + 1)
13, xS+ S5xt+10x°+ 1022+ 5x+1 - 17, Qx + D2+ x — 1)
i 18, (3x — D(x2+ 2x — 1)
14, x5 —6x°+ 15x* — 20x® + 15x* — 6x + 1 19. 2x + 1)(3x + 1)2x ~ 1)
15 2%+ Sxt+x -2 16. 3x% — 2x% — Tx — 2 e
1728+ 3 x -] 18. 3x® + 522 — 5x + 1 ol sl e S
19, 12x3 4+ 4x2 - 3x — 1 20.. 18x* +9x2-2x—1 +x%y% — xy® + y9)
j : 24, (x ~ y)xS + 2y + x%y? + x3y?
S21. 12x® — 20x* — 37x + 30 + x%y* + 2y’ + y9)
: 25. (x = DE® + 1% + 28 + x7 + 16
22. 18x* — 9x% — 38x + 24 (jfxs —B(fc“ + xx3 + xx2 + xx+ l)x

26. (x + DY — x* + x% — x7 + x¢
] —x¥+xt -2+t -x+ 1)
- For Problems 23 through 46, use the pattern for factoring the sum or dif- 27, (x + 2)(x* = 2x3 + 4x* — 8x + 16)

ference of like, odd powers, and any other techniques you may need, to :g Ex - ggx‘:;r 2::13x + 4x2m+28x +91§)
 factor t ; . < la—b)a®*+ ab + ab* + a’b
he polynomial completely gt + aTh® + aSbS + @%b

: + a*b® + a®b® + a*b® + ab!
1__,23‘ x4+ y7 24, x7 - y7 25. xM -1 + b9

30. (@ + b)a™ = a''b + a'%b? — a%?
26 xU 1 27, %+ 32 28. x* - 32 e e e
29 al® — pB3 30. g + pB3 31. a4+ 32p10 + a*b® — a*b® + g?b10 — gp1t
2 ) ' + b9

31. (a + 2b)(a* — 2a°b? + 4a®b*

— 8ab% + 16b%) -




